
Tabelle 1 

€ 

(x1 − x2)x + (y1 − y2)y + (z1 − z2)z = (w1 − w2) /2
(x1 − x3)x + (y1 − y3)y + (z1 − z3)z = (w1 − w3) /2

x = a1z + b1
y = a2z + b2

a1 =
1
d
(z2 − z1)(y3− y1) − (z3− z1)(y2 − y1)[ ]

b1 = −
1
2d
[(w2 − w1)(y3 − y1) − (w3 − w1)(y2 − y1)]

d = (y2 − y1)(x3 − x1) − (y3 − y1)(x2 − x1)

a2 = −
1
d
[(z2 − z1)(x3 − x1) − (z3 − z1)(x2 − x1)]

b2 =
1
2d
[(w2 − w1)(x3 − x1) − (w3 − w1)(x2 − x1)]

wi = xi
2 + yi

2 + zi
2

z1,2 =
−b ± b2 − 4ac

2a

a = a1
2 + a2

2 +1
b = (a1(b1 − x1) + a2(b2 − y1) − z1)
c = (b1 − x1)

2 + (b2 − y1)
2 + z1

2 − r2

 


